G5-Mi6-Lesson 27

1. Use the RDW process to solve the word problem below.

3 .
Daguan brought 32 cupcakes to school. Of those cupcakes, , were chocolate, and the rest were vanilla.

5 3 .
Daquan’s classmates ate 3 of the chocolate cupcakes and ’ of the vanilla. How many cupcakes are left?
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Of the 24 chocolate cupcakes,
15 were eaten. Of the Bvanilla

cupcakes, 6 were eaten.

15 chocolute cupoakes were eqten,

& vanilio cupcokes were eaten.

Lupcokes lefi:
32~ (15+6) =32~ 21 =11

{ find the number of leftover cupcakes
11 cupcokes gre left. by subtracting those that were eaten
from the 32 original cupcakes.
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2. Write and solve a word problem for the expression in the chart below.

During her S-day work week, Mrs. Gomez

5 1 ,
spents = of ene day and 3 of another in
meetings. How much of her work week is
apt spent in meetings?

4 i} days of Mrs. Gomez work week

was nol spent in meetings,
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